Expanding brackets and simultaneous equations
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17 Expand the following expressionosimplifying your answer as far as possible:
X -3)(x +5)
L= +5x -3 15
Az +za-15 . | ]
18 Solve the following simultaneous equations by an algebraic (not graphical) method. Show all your
working. ‘ o
‘ x+2y=8 () Sub 12+0()
4x+5y=13 (Z 3o+ 2= 3
122+ 8y =32 oX" 3tz 6
[Za +15y =349 @x3 x=2z
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17 Expand the following expression, simplifying your answer as far as possible.

Ges-3 [

X" +5x -3 —|5

X +2a-1Is
18 Solve the following simultaneous equations by an algebraic (not graphical) method. Show all your working.
4x-3y=34 (1)
2x+2y=10 @ [4]
43 j 341
— Y4+l =205)x 2 N
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2 Simplify S(X—2y) + 5x -5y 7
0.7 = & _‘j ,
13 Solve the equation 7(x—5)—5(x—4)=0 (
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15 Solve the following simultaneous equations by an algebraic (not graphical) method. Show all your working.
dx+ 3y =12 @ (4]
6x+2y=33
ey @ . Sub ero@ [3x-6C
120+y=3& ("X 3 : u
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13 a) Simplify 3(5n+1)+2(3n-2)
5 nt3 +on-u

Lin =1

b) Expand x(x*+3)
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12 Solve the following simultaneous equations by an algebraic (not graphical) method.

Show all your working.

-2y @ Sub o) (TR
S5x+3y=32 @ 31 +‘2— - 23 (4]
ISx-1oy=115 D5 Iye 2,
lSJ.M;j—_ 96 Q) 13 X7
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7 a) Expand x(x* +4) (1]
5+l
b) Simplify 5(2n—1)+2(9-3n) 2]
©n-5+13 — 6n
b +13

c) Solve each of the following equations

i) 5e-9=3(e+5) (5]
Se—9 = 3e+ |5 e=-12

5e —3e = |5+9

Ze — 24
d
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11 Sdra calculates that five times her age and four times her brother’s age gives a
total of 100. The sum of Sara’s age and her brother’s age is 22.

Find Sara’s age and her brother’s age. 53(_1- 4y =100 (D
LIy 22 @ OSara is 12
bt oo O R biothe, 140 |
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3 ¢) Expand b(3b-2)

[2]
3b*-24 ’






